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1.  The number 632 is considered a “multiple number”

1.

[image: image1.bmp]     since the first digit is the product of the rest of the 
digits of the number.  How many 3-digit multiple 
numbers exist?

2.  At each stage the midpoints of the sides of each 

2.

unshaded equilateral triangles are connected and the 
triangle formed is shaded.  Continuing in this process, 
what is the number of the stage when the shaded area is 
first larger than 90% of the area of the original equilateral 
triangle?


          Stage 1


         Stage 2


3.  How many units are in the sum of the lengths of

3.

the 3 altitudes in a triangle with sides 7, 24, and 25?  
Express your answer as a decimal to the nearest hundredth.

4.  To make one pound of honey, a worker bee must

 4.

visit 25 million flowers. An average visit at a flower, 
including flight time to the flower, is 30 seconds.  
How many days will it take, to the nearest day, for a 
swarm of 10,000 worker bees to continually visit enough 
flowers to make 5 pounds of honey?
5.  A rectangle with vertices R( 9, 3 ), E( 9, - 1),
5.

C( 3, -1 ), and T (3, 3 ) is rotated 180º in the plane 
about the point ( 2, -4).  What are the coordinates of 
vertex R expressed as an ordered pair?

6.  How many even four-digit numbers can be 
6.

formed if the sum of the middle two digits must 
equal 10?

7.  Two fair dice, each with faces numbered

7.
1 through 6, are rolled at the same time.  Each 
die has five exposed faces, which are summed.  

What is the probability that the least common 
multiple of the sums of the exposed faces is a 
multiple of 6?  
Express your answer as a common fraction.

8.  The Great Pyramid is a right pyramid whose 
8.

square base measures 756feet along each edge.  
An ant is crawling on the pyramid along the 
shortest path from the ground to the vertex.  
When she reaches the vertex she is 481 feet above
the base. To the nearest tenth of a foot, what is the 
positive difference between the distance she 
crawled and the height of the pyramid?

